Multiple Choice Pre-Calculus Review

Non-Calculator Questions:
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Calculator Question:
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2 and let g (z) = 2z. Find the value of (g o f) (z) when z = 3.

A) 36 B) 144 C)48 D) 72
E)18 F)4 G)9 H)6
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Let f (z) = 2z and let (f o g) (z) = 2. Find the value of g(4).

A6 B)2 C)16 D)8
E)0 1 G)12 H)4
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Relative to the graph of y = z?, the graph of y = (z — 2)2 is changed in what way?

A) shifted 2 units upward B) compressed vertically by a factor of 2
C) compressed horizontally by a factor of 2 D) shifted 2 units to the left
E) shifted 2 units to the right F) shifted 2 units downward
G) stretched vertically by a factor of 2 H) stretched horizontally by a factor of 2
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Relative to the graph of y = z?, the graph of y = 4z can be thought of as expanded vertically by
afactor of 4. In what other way can it be thought of as being changed?

A) shifted 2 units downward B) shifted 4 units downward
C) stretched horizontally by a factor of 2 D) compressed horizontally by a factor of 4
E) shifted 2 units upward F) shifted 4 units upward

G) compressed horizontally by a factor of 2 H) stretched horizontally by a factor of 4
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Relative to the graph of y = 2% 4 2, the graph of y = 422 + 2 is changed in what way?

A) compressed vertically by a factor of 2 B) stretched horizontally by a factor of 2

C) compressed horizontally by a factor 6f 2 D) shifted 2 units upward
E) shifted 2 units to the right F) stretched vertically by a factor of 2

G) shifted 2 units to the left H) shifted 2 units downward
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Find the range of the inverse function for f (z) =

A) (—00,0] B) ( 00, 7]
E) (=00, —{] F) (=00, ]

V3+ Tz,
) [0,00)
G) [-3,00)
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Find the value of log2.

A3 B)2 C)4 D)1
E)3 PO [OF B i
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Solve the equation log, (Inz) = 1.
A)2e B) 2e
E) e F)l/e

C)e/2
G)2/e

D)1
H) &
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Find the value of log, e — log, (¢/16).

A) -2 B)e?
E) —4 F)e?

C)4
G)2

D) el6
H)e 16
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For what value of z is 2 = (3)*?

A)V2 B)2
E)1 F)0

0 -2
G)1/2

D) -2
H) -1
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Solve the equation e2*~* = 16.

A)In2 B)-In2 C)1+In2 D)1-In2
E)1+2In2 F)1-2In2 G)2+2In2 H)2-2In2




image18.png
Find the difference of the largest and smallest solutions of the equation 524 + z% — 1 = 2°
rounded to two decimal places.

A) 22.50 B) 22.20 C)22.10 D) 11.70
E)11.10 F)11.20 G) 11.30 H)20.15
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‘Which of the following are graphs of functions?

I \ ‘ I 11

A)Tonly B) Il only C) IIT only D)1 and II only
E) I and IIl only F)LILandIVonly  G)Iland V only H) L, II, and III only
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Find the smallest value in the domain of the function f (z) = v2z — 5.

A)2 B) 2 o5 D)

E)-2 F)1 G)o H) -5
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Find the largest value in the range of the function f (z) = 3 — 2z
A)-2 B)Z c)3
E)-3 F)-% G)2
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1+z

1-z

A) (—00,~1) U (=1,00) B) (~00,1)U(1,00)  C)(~00,~1) D) (~1,00)
E) (—00,1) F) (1,00) G)(-1,1) HR

Find the domain of the function f (z) =
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Let f (z) =2z + 3 and let g (z) = 2 — 3z. Find the value of (fg) (z) whenz = 1.

Al B)7 -1 D)5
E)-5 F)3 G)9 H)-3
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Let f (z) = v/z% — 4 and g (z) = v/z + 1. Find the domain of (%) (z).

A) (=00, —2]U[2,00) B)(00,-2)U(2,00) C)(~1,00) D) [—1,00)
E)[2,00) F) (2,00) G)(-1,2) HR




